Mntely Lisst T with L 1T

LIST | LIST 1l
A |;-'a==1-1|m [. [Bronze
B |raseshn 11 fCement mixed with pebblag
C. Cnes Un-Heard] [[] {Cradised copper
D [Santhal Faeaihe | IV [Discarded mmareroal

Choose the comect answer from the opboss given below:

1 A-IV, B-I00L -1, OO0

d

3 AL B GOV

4, A-IIL, B-TW, €-I1

Options :

485584153597. 1
485584153598. 2
485584153599. 3
485584153600. 4

&1, BRIV, =1, I-TI1

Dl

DI

Question Number : 585 Question Id : 48558438400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

Tt 1 3 F gt o an T i

T T=n

A =t 1 i

B, (o] 1 |32 o o) 3 Sne 09 15|

C prEd s | .:-na#mﬁra?m

o [grE urER | v e aTamT e

i fam m faredi O & Tl 3= & w0 ik

L. A-TV, B-IIL -1, 10

2, A=, BV, CaI1 D=I1T

L oALIL BT OV, Dl

4. A-TIL B-IN C-T1, DI

Options :

485584153597. 1
485584153598. 2
485584153599. 3
485584153600. 4

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :

Geography
13
485584894
45
45
No

~

-
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Edit Attended Group? : No

Break time : 0

Group Marks : 200

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No
Geography

Section Id : 4855841036

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 50

Number of Questions to be attempted : 40

Section Marks : 200

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 4855842934

Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 586 Question Id : 48558439516 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The presence of naturalised human is prevalent in the doctrines of
(1)  Neo-determinism

(2)  Tossibilism

|:f5:| Environmental determinism

(4) Probabilism

Options :

485584158061. 1
485584158062. 2
485584158063. 3
4855841580064. 4

Question Number : 586 Question Id : 48558439516 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

(1) 8 frTmEE
(2) HH=ER

(3) TEEE rEEEE

(4) TEEEERE

Options :

485584158061. 1
485584158062. 2
485584158063. 3

fararma © yafem £
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485584158064. 4

Question Number : 587 Question Id : 48558439517 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which of the following did not emerge during 1970s 7
(1) Humanistic approach
(2) Spatial organisation approach
(3]  Weltare approach
(4) Radical approach
Options :
485584158065. 1
485584158066. 2

485584158067. 3
485584158068. 4

Question Number : 587 Question Id : 48558439517 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

= 7 | T 1970 & 29k % d0F e TRl e
(1) HHIAEE 39
(2) ®aiE Hiad 300TH

(3) g 3UTH
(4)  ATHETEET (e ) 9T
Options :

485584158065. 1
485584158066. 2
485584158067. 3
485584158068. 4

Question Number : 588 Question Id : 48558439518 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the lollowing is the sub-held of social geography 7
(1) Behavioural Geo ;ru]:ll1_1,'
(2) Electoral Geography
(3) Geography of Agriculture
(4) Geography of Resources
Options :
485584158069. 1
485584158070. 2

485584158071. 3
485584158072. 4
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Question Number : 588 Question Id : 48558439518 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fre=r o O 29w armfas spis - dm B 7
(1) =THERERE! e

(2y Tar== ym

(3) T e
(4) HEE WP
Options :

4855841580069. 1
485584158070. 2
485584158071. 3
485584158072. 4

Question Number : 589 Question Id : 48558439519 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which ot the llowing discipline is not related to Gender Geography ?
(1) Sociology
(2) Demography
(3)  Anthropology
(4) Women's Studies
Options :
485584158073. 1
485584158074. 2

485584158075. 3
485584158076. 4

Question Number : 589 Question Id : 48558439519 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Frer F & == w o famm, foin i 4w =80
(1) TEw=em
(2) TEEH
(3) oA fagmA
(4) WiEen A
Options :

485584158073. 1
485584158074. 2
485584158075. 3
485584158076. 4
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Question Number : 590 Question Id : 48558439520 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which ot the tollowing is an economic factor influencing the distribution of population 7
(1) Landforms
(2) DMinerals
(3) Climate
(4] Soils
Options :
485584158077. 1
485584158078. 2

485584158079. 3
485584158080. 4

Question Number : 590 Question Id : 48558439520 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

e 8 9 55 W uk s e sadeEn faam # wanfa w7
(1) -*TFfe

(2) ==

(3) SreTET

&

(4) &I
Options :

485584158077. 1
485584158078. 2
485584158079. 3
485584158080. 4

Question Number : 591 Question Id : 48558439521 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the tollowing is not a push factor of people migration 7
(1)  Unemployment
(2) TPolitical turoool
(3)  Pleasant Climate
(4) Poor living Conditions
Options :
485584158081. 1
485584158082. 2

485584158083. 3
485584158084. 4

Question Number : 591 Question Id : 48558439521 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Iculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 H
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

= & war 5 e H 3w v wfie s A g
(1) =
(2) TEHTTEF F9EE

(3] FFA TE
(4) TEA-|EA i e T

Options :

485584158081. 1
485584158082. 2
485584158083. 3
485584158084. 4

Question Number : 592 Question Id : 48558439522 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Ageing population is the result of .

(1) Decline n birth rate and increased lite expectancy
(2) Larger population in lower age group

(3)  Increasing life expectancy and high birth rate

(4) High birth rate and low death rate

Options :

485584158085. 1

485584158086. 2

485584158087. 3
485584158088. 4

Question Number : 592 Question Id : 48558439522 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
95 oWt SHE & whm g

(1) ¥79 5§ o 3 W\ v | 376
(2) o= s =0 | i SeEEn

(3) FEdl 5 SE yEEn e 3| A =
(4) TEFA[ AR OGRS

Options :

485584158085. 1
485584158086. 2
485584158087. 3
485584158088. 4

Question Number : 593 Question Id : 48558439523 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1 COI IegEd un ia%
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Question Key Details :
Key Value
Comprehension MCQ

‘Reindeer” is the most important amamal found in _
(1)  Arctic and sub-Arctic Region

(2) Arabian peninsula

(3) Sahara and Asiatic Desert

(4) Island of Madagascar

Options :

485584158089. 1

485584158090. 2

485584158091. 3
485584158092. 4

Question Number : 593 Question Id : 48558439523 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
= F | = : . S
iz «ifn oyt oy 2 0 o qF S R

(1) =AREf=F =i 39-yFa 7=
(2) =& WHERY
(3) TEM 3 ufr F T
(4) HEFEET g

Options :

485584158089. 1
485584158090. 2
485584158091. 3
485584158092. 4

Question Number : 594 Question Id : 48558439524 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

15 nom-Mediterranean agriculture region,
(1)  Southern California
(2) Central Chile
(3)  South Western parts of Australia
(4) Central Africa
Options :
485584158093. 1
485584158094, 2

485584158095. 3
485584158096. 4

Question Number : 594 Question Id : 48558439524 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value
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|C0mprehension

[MCQ

-y weTiE FM aEm 3

(1y =femit Fereftn
(2) W= T
(3) e gfyeer sifcefem & am
(4) HEI FHHIH
Options :
485584158093. 1
485584158094. 2

485584158095. 3
485584158096. 4

Question Number : 595 Question Id : 48558439525 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

(1) Waterway
(2) Highway
(3} Ropeway
(4) Railway
Options :
485584158097. 1
485584158098. 2

485584158099. 3
485584158100. 4

ig usually found on steep mountain slopes.

Question Number : 595 Question Id : 48558439525 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

U 7 TEEE AN T O FJH

(1) =emm

(2) HEEE

(3) J.u-ﬂlllfl fﬂ‘ZIT':U
(4) TeTOm
Options :

485584158097. 1
485584158098. 2
485584158099. 3
485584158100. 4

Question Number : 596 Question Id : 48558439526 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key

'Value
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|Comprehension [MCQ

Trans-Canadian railways runs between two terminal stations ;
(1) Calgary and Halifax

(2) Calgary amd Sydney

(3 Vancouver and Halifax

(4) Vancouver and Quebec

Options :

485584158101. 1
485584158102. 2
485584158103. 3
485584158104. 4

Question Number : 596 Question Id : 48558439526 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
. = = 2 =, -
W Shafed oEm 2 sfan w2l % dre T B

(1y  FFenmt i Sty
(2) e wi faer
(3) HFE o EeitrE
(4) FFH IR FTEH
Options :

485584158101. 1

485584158102. 2

485584158103. 3
485584158104. 4

Question Number : 597 Question Id : 48558439527 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following mode of transport has the lowest enerpy cost ?
(1} Water Transport

(2) Air Transport

(3} Rail Transport

(4) FRoad Transport

Options :

485584158105. 1
485584158106. 2
485584158107. 3
485584158108. 4

Question Number : 597 Question Id : 48558439527 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Cieh ok R o R e RE T R UG R

(1) == i
(2) =g iEeE
(3) T8 giEed
(4) T viEed
Options :

485584158105. 1
485584158106. 2
485584158107. 3
485584158108. 4

Question Number : 598 Question Id : 48558439528 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which of the following has the meaning of ‘Great City” and was popularised by Jean Gottman 7
(1)  Million City

(2) Conurbation

(3) DMetro City

(4)  Megalopolis

Options :

485584158109 1

485584158110. 2

485584158111.3
485584158112. 4

Question Number : 598 Question Id : 48558439528 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Fe= 11 5 o oef Vo R ¥ ST 2R S M BR v T e e ?
(1) e 52
(2) AW
(3) WHeHT
(4) TemEmE
Options :

485584158109. 1
485584158110. 2
485584158111. 3
485584158112. 4

Question Number : 599 Question Id : 48558439529 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Which of the tollowing is not suggested as a must for healthy city by the World Health
Oraganisation 7
(1) A clean and safe environment
(2) Involves the community in local government
(3)  provides easily accessible health service
(4)  provides free water and electricity to ctizens
Options :
485584158113. 1
485584158114. 2

485584158115. 3
485584158116. 4

Question Number : 599 Question Id : 48558439529 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

e 4 9 59 o v = e F fou fava |nss dna g Arayssk T8 90 m E 7
(1) T W= Ug G draEem

(2) TUHE WET H TOEE F qFEE

(3y Tt & foru e | Ivee Eresy gy

(4) =T e Or oin fast 9=

Options :

485584158113. 1
485584158114.2
485584158115. 3
485584158116. 4

Question Number : 600 Question Id : 48558439530 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Arrange the following continents in ascending order of their area.
(A} Europe

(B) Asia

(C)  Africa

(D) North America

Choose the correct answer from the options given below :

(1) (D) (A) (B) (T)

(2) (D) (A) (C), (B)

(3)  (B) (D) (C). (A)

(4) (B) (D} (A) (T

Options :
485584158117. 1
485584158118. 2

485584158119, 3
485584158120. 4 gcollegedunias
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Question Number : 600 Question Id : 48558439530 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

= meErdl 1 T A & SFEN ANE 0 H S St |

(A) I
(By wfEm
(C) I

(D) 3 g0

= fau o fased o 9 wE = % 99 Fafan
(1) (D). (A). (B). (T)

(2) (D) (A) (C). (B)

(3} (B). (D). (C). (A)

(4)  (B). (D). (A) (O

Options :

485584158117. 1
485584158118.2
485584158119. 3
485584158120. 4

Question Number : 601 Question Id : 48558439531 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify correct statements about age structure of population,

(A} Nigeria has triangular shaped age-sex pyramid.

(B) Aunstralia’s age-sex pyramid is bell shaped.

(C)  Japan has a narrow base pyramid.

(D} Mexico has bell shaped age-sex pyramid,

Choose the correct answer from the options given below !
(1)  [A) (B) and (D) only

(2) (B), (C), and (D) only

(3 (A), (B) and {C) only

(4)  (A) (C) and (13} only

Options :

485584158121. 1
485584158122.2
485584158123.3
485584158124. 4

Question Number : 601 Question Id : 48558439531 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

-

-

collegedunias

India’s largest Student Review Platform



Key Value
Comprehension MCQ

T A WA F e H e wyEl F v
(A) =i =1 s rg-fan frofne faEm )

(B) aAfefom o sy -Ten foriae 540 &% swn w8
(Cy =M & i &1 snuam g=m &

(D) i 1 smg-Toin foafre o2 & s =
= fau mu fasedl F # wE I W T Hife

(1) = (A), (B} 37 (D)

(2) = (B}, (), AR (D)

(3) e (A), (B) S (C)

(4) FEA (A), (C) #T (D)

Options :

485584158121. 1
485584158122.2
485584158123.3
485584158124. 4

Question Number : 602 Question Id : 48558439532 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify correct skatements about the Human Poverty Index.
(A} Itis a non-income measure.
(B) The probability of not surviving till the age of 40 is considered.
(C) It includes the number of small children who are underweight.
(I Often Human development Index is more revealing than human poverty Index.
Choose the correct answer from the options given below :
(1) (A, (B), (C) only
(2)  (B), (C), (D) only
(3)  (A). (C) (D) only
(4) (A (B, (D) only
Options :
485584158125. 1
485584158126 2

485584158127.3
485584158128. 4

Question Number : 602 Question Id : 48558439532 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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OFE THET GEEF F 91§ O el ) gE=ni |

(A) &% T -3 W9 ¥

(B) 40 @4 7% Sifad 7 18 Y Fi HYEET F1 TR ST E

(C) 50 O & S92 a1 T & Wi i #

(D) 9 " Tammm wahis, Are i e F 1 qern | st w9 geta 3
= frw e fmred o B W I w5 = i

(1) & (A), (B), (C)
(2) == (B), (C), (D)
(3) =R (A), (C), (D)
(4) T (A), (B), (D)

Options :

485584158125. 1
485584158126. 2
485584158127.3
485584158128. 4

Question Number : 603 Question Id : 48558439533 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

[dentity the members ot the Orgamsation of Petroleum Exporting Countries from the following :

(A} Indonesia
(By India

(C)  Iran

(D) Venezuela

Choose the correct answer from the options given below :

(1)  (A) (B), (C) only
(2) (B, (C), (D) only
(3 (A) [C). (D) only
(4)  (A) (B), (D) only

Options :

485584158129. 1
485584158130. 2
485584158131.3
485584158132. 4

Question Number : 603 Question Id : 48558439533 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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= 9 4 9femm Faes oo F oea ¥ oeoi = Tea

T
(B) A
(C) ==

(D} Seeqeen

Fi T me faemedl o | = I = =99 FifEn

(1) ae (A) (B), (O
(2) A (B), (C). (D)
(3)  =FEe (A), (C), (D)
(4) FFA (A), (B), (D)

Options :

485584158129. 1
485584158130. 2
485584158131. 3
485584158132. 4

Question Number : 604 Question Id : 48558439534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Mhatch List - T with List - IT.
List - 1 List - 11
(I'ype of Port) (Examples)
(A} Ol Port (1) Homolulu
(By Ferry Port () Kochcha
(C) MNawval Port (I} Tripoli
(D} Port of Call (V) Dower

Choose the correet answer from the options given below :
(1) (AR, (BRI, (CHI), (DY)
(2) (AN, (B)=(HI), (ST, (DY)
(3) (AL, (BY-(IV), (CHID), (D)D)
(4) (AL, (B}(L), (C)-(11), (D)(IV)

Options :

485584158133. 1
485584158134.2
485584158135.3
485584158136. 4

Question Number : 604 Question Id : 48558439534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

.
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Heit-1 § gEi-11 # foam Fifa;
-1 T=I-11

(TH T WHT) (FETET)
(A) et T (I e
(B) T T7F G E
(C) B uee (ERE Il
(D) | e (IV) =

A= feu o faspeal ° | TRl 390 1 F99 i
(1) (AT} (BRI, (ST, (DR{TV)
(2) (A} (B)-(II), {C)-(D). (DY)
(3)  (A)-(HI), (B)-(IV), (C)-(1L), (D))
(4) (A1, {(B)-(1), {C-(ID, {(D}{IV)

Options :

485584158133. 1
485584158134.2
485584158135.3
485584158136. 4

Question Number : 605 Question Id : 48558439535 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - [I.
List - 1 List - 1
(Rural Settlement Patterns) (Their Development)
(A} Rectangular Pattern ()  On both sides of a river with bridge or herry
(B} Circular Pattern (I} Where several roads converge
(C) Double Village {II} Develop around lakes
(D} Star like Patbern (V) Settlement found in Plain areas

Choose the correet answer from the options given below :
(1) (A)-(I). (BR(I). (CO)-(III), (DHIV)
(2)  (A)HIV), (B)-{IIT), (C)-(1), (I)-(1)
(3) (AR(IV), (B)-(I), (Cp-1), (D))
(4)  (A)-(I), ([BR{IV), (C)-II), (D)-(1)

Options :

485584158137. 1
485584158138. 2
485584158139. 3
485584158140. 4

Question Number : 605 Question Id : 48558439535 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details : .
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Key Value
Comprehension MCQ

i1 9 gEi-1l 7 foan wifaw;
-1 =i-11
(TITHTOT =T whEe) (FrT famm)

(A) SETER qREY IV e o e o e e
(B) TR WiaEy () =8 &% g foe &

(C) BEam (1) =T % =W 3in fawiad

(D) o S vy (IV) =1 HEmT s o o o g

A4 feu o faerel § | WEr 397 1 999 Fian -
(1) (AL, (BRI, (OHAII), (DHIV)
(2) (AMIY), (B)AIID), (C)-(I1), (TH-(I)
(3)  (AIV), (B, (T, (D-(I0)
(4) (A}, (BR(IV), (C)-(1I), (Dn-{II)

Options :

485584158137. 1
485584158138.2
485584158139. 3
485584158140. 4

Question Number : 606 Question Id : 48558439536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

According to 2011 Census which state has urban population more than 50% of the State
population 7

(1) Tamil Nadu

(2) Kerela

(3) Daharashtra

(4) DNlizoram

Options :

485584158141. 1

485584158142. 2

485584158143.3
485584158144. 4

Question Number : 606 Question Id : 48558439536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
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2011 F T F wgan TFm T F e 50 B Al s sagen §7
(1) wfoerTg

(2) =&TH
(3) HeER=
(4) Trsirm
Options :

485584158141. 1
485584158142. 2
485584158143.3
485584158144. 4

Question Number : 607 Question Id : 48558439537 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Men predominate the rural to urban stream of inter-stiake migrabon due o ;
(1) Social Reasons

(2)  Economic Reasons

(3 Political Reasons

(4) Educational Reasons

Options :

485584158145. 1
485584158146. 2
485584158147.3
485584158148. 4

Question Number : 607 Question Id : 48558439537 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Tl TE H ST TEE W 8 T 9w § 9 |t
(1) THEEF FE
(2) nie ol
(4) Fifers R
Options :

485584158145. 1
485584158146. 2
485584158147.3
485584158148. 4

Question Number : 608 Question Id : 48558439538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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According to the Census of India (2001 1) the chald sex ratio in Punjab and Haryana is ;
(1) more than 8% female children per 1000 male children

(2) 870 - 890 temale children per 1000 male children

(3) 850 - 840 female children per thousand male children

(4) less than B30 female children per 1000 male children

Options :

485584158149. 1
485584158150. 2
485584158151. 3
485584158152. 4

Question Number : 608 Question Id : 48558439538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

I F 2011 F FATE F IR M AR e | oy oo E
(1) whT 1000 g7 e a0 7 wfter =i fimg

(2) wia 1000 g=a Trged 97 870 - BoD =

(3) wfa 1000 gF9 Tompedi W 850 - B0 W g

(4) gfa 1000 T e = 850 F =0 =i g

Options :

485584158149. 1
485584158150. 2
485584158151. 3
485584158152. 4

Question Number : 609 Question Id : 48558439539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which one of the tollowing is not a beature of Clustered Settlement ?
(1) Clustered rural setdement is 4.']“5-1‘.']}-‘ built up area of house

(2) Clustersd settlements are generally Found in fertile alluvial plains
(3)  People live in compact village for security or defence reasons
(4) The units like Panma, Para, Palli etc. belong to clustered settlements

Options :

485584158153. 1
485584158154. 2
485584158155. 3
485584158156. 4

Question Number : 609 Question Id : 48558439539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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= 8 4 25 m o wem i 9 | Tl R

(1) T T = HEow = & ff =i = am E
B O 5 e e e e | e e e e e e e 1
(3) T e 7 W i | Hew e § wA

(4) ST S L W, e enfs, e At @ et §

Options :

485584158153. 1
485584158154. 2
485584158155. 3
485584158156. 4

Question Number : 610 Question Id : 48558439540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which one of the following town was developed after independence 7

(1} Bhubneswar

(2) Nagpur

(3} Mumbai

(4) Kolkata
Options :
485584158157. 1
485584158158. 2

485584158159. 3
485584158160. 4

Question Number : 610 Question Id : 48558439540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

= § 8 38 8 T W A # 9. EE e ?

(1) ETE
(2) T
(3) ==
(4) HiTEHE
Options :

485584158157. 1
485584158158. 2
485584158159. 3
485584158160. 4

Question Number : 611 Question Id : 48558439541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Inclia accounts for about _ per cent of world's water resources.

(1) 2.45
(2) 4
(3 16
(4] 23

Options :

485584158161. 1
485584158162. 2
485584158163. 3
485584158164. 4

Question Number : 611 Question Id : 48558439541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
fava & o= dargs w0y yiawma feom wma 1 2
(1) 245
(2) 4
(3) 16
(4) 23
Options :

485584158161. 1
485584158162. 2
485584158163. 3
485584158164. 4

Question Number : 612 Question Id : 48558439542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The raw material for cement industry are ;
(1} Limwstone and marble

(2) Dolomite and limestone

(3}  Dolomite and sandstone

(4) Limestone and sandstone

Options :

485584158165. 1

485584158166. 2

485584158167. 3
485584158168. 4

Question Number : 612 Question Id : 48558439542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) =T T°43 TH SIETH
(2) ErETHES TE HH T
(3) =g 3N e e
(4) T TR S A TR

Options :

485584158165. 1
485584158166. 2
485584158167. 3
485584158168. 4

Question Number : 613 Question Id : 48558439543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The canary bird 15 used to detect gas n the Singareni coal helds.

(1)  Carbon - Monoxide
(2) Carbon - dioxide
(3 Chloroflurocarbons
(4) Carbon

Options :

485584158169. 1
485584158170. 2
485584158171. 3
485584158172. 4

Question Number : 613 Question Id : 48558439543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Fen=t wren ==m o T4 =1 W A F e e et ewm R e

(1) FEF-TAATES
(2) wTEA-ERAlETTE
(3) ST

(4) o

Options :

485584158169. 1
485584158170. 2
485584158171.3
485584158172. 4

Question Number : 614 Question Id : 48558439544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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The Arst serious attempt to develop modem road bransport is known as

(1) Nagpur plan
(2) Pune plan
(3  Mumba plan
(4) Wardha plan
Options :

485584158173, 1
485584158174.2

485584158175.3
485584158176. 4

Question Number : 614 Question Id : 48558439544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

#fTeh HEe TR & wu T SEE R S S R

(1) =T ST
(2) T
(3) e A
(4) =i 9=
Options :

485584158173. 1
485584158174. 2
485584158175.3
485584158176. 4

Question Number : 615 Question Id : 48558439545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Atal Tunnel s built in
(I} Pir Panjal Range
(2) ZFasker Range

(3) Shiwalik Range
(4) Dhauladhar Range
Options :

485584158177. 1

485584158178. 2

485584158179. 3
485584158180. 4

Question Number : 615 Question Id : 48558439545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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3 ZAE (i) H R T E
(1) 9T o= oy

(2) ST E

(3) TomEfers g

(4) iR A

Options :

485584158177. 1
485584158178. 2
485584158179. 3
485584158180. 4

Question Number : 616 Question Id : 48558439546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The largest government undertaking in India 15 .
(1) Natonal Highway Authority

(2) Indian Uil Corporation

(3) Indian Railways

(4) ©il and Natural Gas Corporation

Options :

485584158181 1

485584158182, 2

485584158183. 3
485584158184. 4

Question Number : 616 Question Id : 48558439546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

i H TR F1 T99ead 399 & |

(1) I HEmn] Wi
(2) wEE ae fam
(3) HHEHHE TEd
(4) e sl wepfoe W fam
Options :
485584158181. 1
485584158182.2

485584158183.3
485584158184. 4

Question Number : 617 Question Id : 48558439547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Arrange the Following modern Indian languages on the basis of number of speakers in descending

order,

(A} Dravidian

(B) Indo-European
(C) Sino-Tibetan
(D)  Austric

Choose the correct answer from the options given below :

(1) (A} (B). (©). (D)
(2)  (A) (B, (D) (C)
(3) (B (A) (C) (1)
(4}  (B), (A), (D), (C)

Options :

485584158185. 1
485584158186. 2
485584158187. 3
485584158188. 4

Question Number : 617 Question Id : 48558439547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e urdt i =, 3 S Jrel F SE R ANE W A8 %0 § i Sife |

(A} wiEE
(By  HFAT-FE4Tg
(C) - Teeat
(D) #fEZs

= oo o fasredl O 9 WEr 39T T 99 S

(1) (A) (B). (C). (D)
(2) (A (B (D), {Q)
(3) (B) (A), (C), (D
(4) (B), (A) (D), (C)

Options :

485584158185. 1
485584158186. 2
485584158187. 3
485584158188. 4

Question Number : 618 Question Id : 48558439548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Arrange the following mepga cibies in decreasing order of their population according o 2011 census,

(A} Chennai
(BY Delhi

(C)  Bengaluru
(D} Kolkata

Choose the correct answer from the options given below :

(1) (B), (D), (C), (A)
(2) (B (D). (&) {C)
(3) (D) (Bl (A) (€]
(4) (D0 (B (C). (A)
Options :

485584158189. 1

485584158190. 2

485584158191. 3
485584158192. 4

Question Number : 618 Question Id : 48558439548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

2011 T FFET F SR 9 AW A R SR A e 9w Y st i

(A) ==
(By Tee==it
(C) =Tege
(D} HIASME

A= fon mu fasedi § A W 39T 1 99 e

(1) (B} (D). (C). (A)
(2) (B) (D), (A) (C)
(3) (D). (B). (A) {C)
(4} (D), (B), (C) (A)

Options :

485584158189. 1
485584158190. 2
485584158191. 3
485584158192. 4

Question Number : 619 Question Id : 48558439549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Arrange the following rivers from north to south according to their delta location,

(A} Krishna
(B) Godavari
(C) Mahanadi
(D) Kaveri

Choose the correct answer from the options given below :

(1) (B) (Ch (A), (DY
(2) (B) (C). (D). (A)
(3)  (C). (B), (D). (A)
(4) (C). (B). (A). (D)
Options :

485584158193. 1

485584158194. 2

485584158195. 3
485584158196. 4

Question Number : 619 Question Id : 48558439549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

MCQ

P afedl &5 == 2o 1 wafaf % oan 3 9 gfem & ain srafem a0t

(A) =
(B) TrEred
(C) WEFED
(D) whradt

== fou Mo faeredl W H Wi W = S

(1) (B) (C) (A) (D)
(2)  (B) (€, (D), (A)
(3)  (C), @), (D) (A)
(4) (C) (B), (A) D)

Options :

485584158193. 1
485584158194. 2
485584158195.3
485584158196. 4

Question Number : 620 Question Id : 48558439550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Arrange the developments in commumication sector in chronological order,

(A}  Akashwani

(B) Doordarshan

(C) IRS-IA

(D} Radio Broadcasking

Choose the correct answer from the options given below :

(1)  (A) (D). (B). (C)
(2) (A) (D), (C), (B)
(3) (D) (A) (B) ()
(4) (D) {A) (C). (B)

Options :

485584158197. 1
485584158198. 2
485584158199. 3
485584158200. 4

Question Number : 620 Question Id : 48558439550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

oA &4 & fasw #1 Fen ° sEiem i |

(A} HATHREET
(B) SEEE

(C) oA A% TH-1A
(D) I ggEm

= fau o fasredi § # W SwW = e

(1) (A (D) (B) (C)
(2) (A (D) (), (B)
(3) (D) (A) (B) (©)
(4) (D) (A) (C) (B)

Options :

485584158197. 1
485584158198. 2
485584158199. 3
485584158200. 4

Question Number : 621 Question Id : 48558439551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ
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ldentify correct statements about land use categories,

(A} ‘Land put to non-agricultural uses’ includes land under settlements, roads, industries etc.

(BYy "Cultural wasteland’ include land left uncultivated for more than five years,

(C) "Current fallow’ is land which is left without cultivation for one or less than one agniculture
year.

(D} “Netareasown'is greater than the physical extent of area under crops due to multiple cropping
on the same piece of land,

Choose the correct answer from the options given below :

(1) (B), (€}, () only

(2} (A) (B). (D) only

(3}  {A) (), (D) only

(4)  (A), (B). (O) only

Options :

485584158201. 1
485584158202. 2
485584158203. 3
485584158204. 4

Question Number : 621 Question Id : 48558439551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

IR W & A H wE FE R TeE |

(A} e wmEt § v v § afed, wo, T ek ¥ st i afefE

(By =Ty dra =94 gyfg § iy 91 § =fas g9 7 s ten gfa ofmfm )

(C) aH T ufg T% & S v w9 @ vF o | w5y g F o i e 9 e &

(D} T | 77 FEEe! F10 % e i At 92 % fawm 8, e @ orn dm ates
B

=4 feu wu faedi § 9 W 39 % 999 S

(1) == (B), (C), (D)

(2) A (A). (B), (D)

(3) F=E (A), (C), (D)

(4) = (A) (B), (C)

Options :

485584158201. 1

485584158202. 2

485584158203. 3
485584158204. 4

Question Number : 622 Question Id : 48558439552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value .
Comprehension MCQ '. (0] I I egea unilas
O =

-
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ldentify correct slatements about cotton culbvation i India.

(A} India grows only short staple {Indian) cotton.

(B) Coftton is a tropical crop grown in Kharif season.

(C)  Cottom requires clear sky during flowering stage.

(D} Its leading producers are Maharashtra, Gujarat, and Andhra Pradesh.

Choose the correct answer from the options given below :

(1) (A) (B), (C) only
(2)  (A), (B), (D) only
(3)  (A), (C), (D) only
(4) (B}, (C). (D) only

Options :

485584158205. 1
485584158206. 2
485584158207. 3
485584158208. 4

Question Number : 622 Question Id : 48558439552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A H 9 =1 6 F = H Tel wYE R qEat)

(A} A e 9 T e (REE) S e
(B) o9 U IWEHAHNTE FEE E 9 @i W H S e )

(C) 9 T FE A & AT TS S i AEIET Tt &
(D) TH® U0 IeUEeh] W WERE, e S s wmm ¥
= fau mu fasmedl F # wWE I F T Fhe

(1) =& (A). (B). (O
(2) == (A), (B), (D)
(3) == (A), (C), (D)
(4) FEE (B), (C). (D)

Options :

485584158205. 1
485584158206. 2
485584158207. 3
485584158208. 4

Question Number : 623 Question Id : 48558439553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Match List - I with List - I1.

List - 1 List - 11

{FPeriod) {Population Growth Characteristics)
(A) 1501 - 1921 (1)  Teriod of Population Explosion
(B) 1921 - 1951 (I} Graduwally slowing down of growth rate
(C)y 1951 -'1981 (I} Period of steady Population Growth
(D) 1981 - tll present (IV) Stagnant or stationery phase of growth

Choose the correct answer from the options given below :
(1) (A, (BTV), (C}-(1), (IH-(IT)

(2) (A, (BHIV), (C)-(I1), (D)-(T)

(3)  (AMIV) (B)-(HL), (C)-(1), (D-(IT)

(4) (A)-IV), (B)-(LLD), (C)-11), (D)-(1)

Options :

485584158200. 1

485584158210. 2

485584158211. 3
485584158212. 4

Question Number : 623 Question Id : 48558439553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

-1 § g1 & foem it
Et-1 -1
(Fre/ 3t (e iy faprem)

(A) 1901 - 1921 )y TEe faowe &5 aEf

(By 1921 - 1951 (I} -t b7 vfa | w2 gis =
(C) 1951 - 1981 (11} Toem o o5fs &1 aais
(D} 1981 - T 375F (V) Fg 7 fer afg =1 a=Een

A+ fen o fasmeal o | Wat 39 =1 =99 FifEn
(1) (A=), BHIV), (C)-0), (D))

(2)  (A)-(I). (B)-(IV), (C)-(ID). (D)~(T)

(3)  (A)-(IV), (B)-(LIL), (C)-(1), {D(I)

(4)  (A)=(IV), (B)=(III), (C)=(II), (D)=)

Options :

485584158209. 1

485584158210. 2

485584158211. 3
485584158212. 4

Question Number : 624 Question Id : 48558439554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details : .
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Key Value

Comprehension MCQ
Match List - I with List - II.
List - 1 List - 11
{Oil Refineries) (State)
(A) Barauni (I} Tamil Nadu
(By Nagapattinam () Gujarat
(C) Koyali (I} Bihar
(D} Bina (V) Madhya Pradesh

Choose the correet answer from the options given below !
(1) (A (BRI (OHIV), (D)-(TIT)

(2) (AT, (B)-(1), (O, (DHIV)

(3) (A1), (B)-{ID), (C)-(T), (DHIV)

(4)  (AFIV), (B)-(I), (C)-(1I), (D)-{1I)

Options :

485584158213. 1

4855841582142

485584158215. 3
485584158216. 4

Question Number : 624 Question Id : 48558439554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tl H g1l = e wifa
-1 =it-11

(Fre e yIred) ()
(A) = () aferng
(B) ATz () T
(C)  =HIger (1) faEr
(D) = (IV) %7 WEh

A1 fer o fasedl o | 98t 39T = = S -
(1) (A0, (BRI, (SHIV), (D))
(2) (A=), (B)-(I), (C)-(I1). (D-{IV)
(3) (AL, (B)-(II), (C)-(I). (D}(IV)
(4)  (AIV), (B)-(D), (C)=(1D), (D)-(I11)

Options :

485584158213. 1
485584158214.2
485584158215.3
485584158216. 4

Question Number : 625 Question Id : 48558439555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : alculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 .
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Mhatch List - T with List - I1.
List - 1 List - 11
(Water ways) {Stretch)
(A} Nabional waterway 1 (I}  Specified strelches of Godavarn - Krishna rivers along with
Kakinada, Puducherry strech of canal
(B) Nabonal waterway 2 (0} Kottapuram - Kollam
(L} MNational waterway 3 {IlI) Allahabad - Haldia
(D} MNahonal waterway 4 (IV} Sadiya - Dhubsi

Choose the correct answer from the options given below :
(1) ‘_P":l'“[}: ':H]"““:'.' {l::j'{]}-' |:.[:'.|"1.I1l"r.|'

(2)  (A)-(IID, (B)II), {C)-(IV). (D)-{T)

(3) (A0, (BHIV), (OHID, (D)-(I)

(4) (A1), (BHIV) (CHID. (D)-(1)

Options :

485584158217. 1

485584158218. 2

485584158219. 3
485584158220. 4

Question Number : 625 Question Id : 48558439555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
TEit-1 H eI 7 e i .

-1 -1
(ST (ferr)

(A) T AT 1 () SIS 37 Qg et 2 & 01— TerEi-Fem o
fa9m famn

(B) ISt Sermmt 2 (1)  FEEEH-Frem

(C) I SEHm 3 (M) FAEER-eeed

(D) g STEHRT 4 (IV) ®fem- ]

== fau o fasad § | wi =T 1 999 Fifaw .
(1}  {A)-(11}. (B}={III), (C)={I), (D}{IV)
(2)  (A)-(III), (B, (C)-(IV), (D)-{T)
(3) (AT (BR(IV), (C)-(1D), (D)-(IL)
(4) (A, (B-IV), (C)-(1D), (D)-(T)

Options :
485584158217. 1

485584158218. 2 .
485584158219. 3 collegedunlag
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485584158220. 4

Sub-Section Number : 2
Sub-Section Id : 4855842935
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 626 Question Id : 48558439556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Read the given passage carefully and answer the following question :

Depending on the mode of occurrence and the nature of the ore, mining 15 of two types;
surface and underground mining. The surface mining also known as open-cast mining is the
easiest and the cheapest way of mining minerals that occur close o the surface, Overbead cosks
such as S,alh}l]..r precaubion arud equipment 15 Il;*[ﬂti'\ru]}' low in this method. The ou tputis bosth |urge
and rapid.

When the ore lies deep below the surfaces, underground mining method (shatt method) has
to be used. In this method, vertical shafts have to be sunk, from where underground galleries
radiate to reach the minerals. Minerals are extracted and transported to the surface through these
passages. |t requires specially designed lifts, drills, haulage vehicles, ventilation system for safety
and efficient movement of people and material. This method is risky. Poisonous gases, fires, floods
and caving in lead ko fatal accidents.

The developed economies are retreating from mining, processing and refining stages of
production due to high labour costs, while the developing countries with large labour force and
striving tor higher standard of living are becoming more important.  Several countries of Africa
and few of south America and Asia have over fifty per cent of the earnings from minerals alone,

Which one of the following method of mining is cheapest 7
(1} Underground mining
(2} Open-cast mining
(3)  Drill mining
(4) Underground mining with different approaches
Options :
485584158221, 1
485584158222, 2

485584158223.3
485584158224. 4

Question Number : 626 Question Id : 48558439556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl
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fam o e Wt SgEe ufew s e wwel & 3w i)

Fnfrufy ® AT U9 MUTE F UEfd F AN T T E 2 UET B STAeE TE T T
AT w1 TEed T i e A § ) T AAE O YT A S = o S o T ST S
T &, Fhis TE Aty F gueners qarE v e W AtaiiEn we SHeTEa T B B Soaes 1y
T =fies T

T HAE=R mmﬁ%n”mrrﬁréﬁ"ﬁ'rm%aﬁ%Iﬁmammiﬁﬂﬂfrﬁﬂﬂﬁﬁnmﬁmﬁmm%tw
fafyy | wiaag Fow mer o fam ¥, w1 9 9fm fefE afel o vgee & o % 2 0= oe 9w
afrat = Fredn o gitrs wome o e s 1 msm ol w9 3 ool aan Feeet =@ e
wiEt & i i et smEre 3y T T v w5t fee, S (=), W 2R S miEAt awm
TR WO F AT S § S O a0 S0 s i e 1, 9m U e F F e w5
AN gHEAT B T 9 TR

ferwfom srdeamen T 20 IAER 1 T, YOS UE TEE w0 U 22w § wi vy g
T FleeR ST F | Fath et 29 ST faure afte il % o W AT SvEadl ® e -
TEA F AN T AT TR S e © TE © | TR O W 2w, =i amifien F e e v uien
T ST 5 WA 1 TE WiEE A S S W uW A T

=01 5 83 w5 # wiF o fafy en wt &7

(1) Y =

(2) Taga (woaeEs) =

(3) a1 (A¥) @A

(4) Tafma af=l & w9 Sfgm =19

Options :

485584158221. 1
485584158222. 2
485584158223. 3
485584158224. 4

Question Number : 627 Question Id : 48558439557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Read the given passage carefully and answer the following question :

Depending on the mode of occurrence and the nature of the ore, mining 15 of two types;
surface and underground mining. The surface mining also known as open-cast mining is the
easiest and the cheapest way of mining minerals that oceur close o the surface, Overhead cosks
such as safely precaution and equipment is relatively low in this method. The outputis both large
and rapid,

When the ore lies deep below the surfaces, underground mining method (shaft method) has
to be used. In this method, vertical shafts have to be sunk, from where underground galleries
radiate to reach the minerals. Minerals are extracted and transported to the surface through these
passages. [t requires specially designed lifts, drills, haulage vehicles, ventilation system for satety

and efficient movement of people and material. This method is risky. Poisonous gases, fires, floods
and caving in lead to fatal accidents.

The developed economies are retreating from mining, processing and refining stages of
production due to high labour costs, while the developing countries with large labour force and
striving bor higher standard of living are becoming more important.  Several countries of Alrica
and few of south America and Asia have over fifty per cent of the earnings from minerals alone,

Which one of the following is not correct statement about surface mining 7
(1} It is also known as open cast mining
(2) It is easiest way of extraction
(3) It is cheapest way of mining
(4) Iis safety cost is very high
Options :
485584158225. 1
485584158226 2

485584158227.3
485584158228. 4

Question Number : 627 Question Id : 48558439557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl
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fau T ey Wt ST ufew sim e wwst & 3w e

Fafoafa w1 A= TH ATTE S W & SN W = & WeN § smeg e ufE o |
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(2) = P = ST W ¥

(3) 4% E R A HE e

(4) EEI O T wgd S R

Options :

485584158225. 1
485584158226. 2
485584158227.3
485584158228. 4

Question Number : 628 Question Id : 48558439558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Read the given passage carefully and answer the following question :

Depending on the mode of occurrence and the nature of the ore, mining is of two bypes:
surface and underground mining. The surface mining also known as open-cast mining is the
easiest and the cheapest way of mining minerals that occur close o the surface, Overhead costs
such as safely precaution and equipment is relabvely low in this method. The output is both large
and rapid.

When the ore lies deep below the surfaces, underground mining method (shaft method) has
to be used. In this method, vertical shafts have o be sunk, from where underground galleries
radiate to reach the minerals. Minerals are extracted and transported to the surface through these
passages. [t requires specially designed lifts, drills, haulage vehicles, ventilation system for safety
and efficient movement of people and material, This method is risky. Poisonous gases, fires, floods
and caving in lead to fatal accidents.

The L‘h?ve]upm.l economies are retreating from mining, processing and rEfining stages of
production due to high labour costs, while the developing countries with large labour force and
striving for higher standard of living are becoming more important. Several countries of Africa
and few of south America and Asia have over fifty per cent of the earnings from minerals alone,

The developed countries are avoiding mining in their own countries due to :
(1) poor availability of mmerals

(2) lack of technology to mine

(3} high labour costs

(4) people are not interested in mining

Options :

485584158229. 1
485584158230. 2
485584158231.3
485584158232. 4

Question Number : 628 Question Id : 48558439558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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Options :

485584158229. 1
485584158230. 2
485584158231.3
485584158232. 4

Question Number : 629 Question Id : 48558439559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Read the given passage carefully and answer the following question :

Depending on the mode of occurrence and the nature of the ore, mining is of two types:
surface and underground mining. The surface mining also known as open-cast mining is the
easiest and the cheapest way of mining minerals that occur close bo the surface, Overhead cosks
such as salely precaution and equipment is relabively low in this method. The output is both large
and rapid.

When the ore lies deep below the surfaces, underground mining method (shaft method) has
to be used. In this method, vertical shafts have o be sunk, from where underground galleries
radiate to reach the minerals. Minerals are extracted and transported to the surface through these
passages. [t requires specially designed lifts, drills, haulage vehicles, ventilation system for safety
and efficient movement of people and material, This method is risky. Poisonous gases, fires, floods
and caving in lead to fatal accidents.

The developed economies are retreating from mining, processing and refining stages of
production due to high labour costs, while the developing countries with large labour force and
striving for higher standard of living are becoming more important. Several countries of Africa
and few of south America and Asia have over fifty per cent of the earnings from minerals alone.

Which one of the following component is not applicable o underground mining method 7
(1) Specially designed lifts
(2} Good ventilabion system
(3) Mineral availability near the surface
(4) Haulage vehicles
Options :
485584158233. 1
485584158234 2

485584158235.3
485584158236. 4

Question Number : 629 Question Id : 48558439559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Options :

485584158233. 1
485584158234.2
485584158235.3
485584158236. 4

Question Number : 630 Question Id : 48558439560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Read the given passage carefully and answer the following question :

Depending on the mode of occurrence and the nature of the ore, mining 15 of two types;
surface and un:lurgn‘lund AT, The surface U'ljning also known as open-cast nﬁni.ng is the
easiest and the cheapest way of mining minerals that oceur close o the surface, Overhead cosks
such as safely precaution and equipment is relatively low in this method. The outputis both large
and rapid,

When the ore lies deep below the surfaces, underground mining method (shaft method) has
to be used. In this method, vertical shafts have to be sunk, from where underground galleries
radiate to reach the minerals. Minerals are extracted and transported to the surface through these
passages. |t requires specially designed lifts, drills, haulage vehicles, ventilation system for safety
and efficient movement of people and material. This method is risky. Poisonous gases, fires, floods
and caving in lead to fatal accidents.

The developed economies are retreating from mining, processing and refining stages of
production due to high labour costs, while the developing countries with large labour force and
striving bor higher standard of living are becoming more important.  Several countries of Alrica
and few of south America and Asia have over fifty per cent of the earnings from minerals alone,

Minmg activity comes under :
(1) Primary activity

(2} Secondary activity

(3) Tertiary activity

(4) Cuaternary activity

Options :

485584158237. 1

485584158238. 2

485584158239.3
485584158240. 4

Question Number : 630 Question Id : 48558439560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Comprehension Compl
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Options :

485584158237. 1
485584158238. 2
485584158239. 3
485584158240. 4
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Read the given passage carefully and answer the following question :

Based on the universal law “Polluter pays™, effect to restore the ecology and satepuard the
human health with people’s participation has laken place in Daurala near Meerut, These offorks
are now bearing fruits atter a span of three years when Meerut based NGO had developed a model
for ecological restorabion. The meeting of the Daurala Industries officials, NGOs, Government
otficials and other stackholders at Meerut has brought out results, The powertul logics, authentic
studies and the pressure of people have brought a new lease of life to the twelve thousand residents
of this village, It was in the vear 2003 that the pitiable condition of Dauralaities drew the attention
of the civil society. The groundwater of this village was contaminated with heavy metals. The
reason was that the untreated waste water of Daurala industries was leaching to the groundwaler
table. The NGO conducted a door to door survey of the health status of the residents and came out
with a report. The orgamsabion, the village community and people’s representabives sat together
te Hnd out sustainable solutions to the health problem. The industralists showed a keen interest
towards checking the deteriorating ecology,  The overhead water tank’s capacity in the village
was enhanced and a 90m extra pipeline was laad to supply potable water to the community, The
silted pond of the village was cleaned and recharged by distilling it. Large quanbity of silt was
removed 'Fl-d"u"]nb way to ld‘!’&"l :.Iild.nfii‘.'-" of water so I:!u'll: it rELharhed the dquﬁeh Rainwater
harvesting structures have been comstructed at different places which has helped in diluting the
contaminants of the groundwater after the monsoons, 1000 trees have also been planted which
have improved the environment,

The case study on Daurala is based on which universal law 7
(1) TPolluter suffers
(2) Tolluter pays
(3) Polluter gains
(4) Tolluter losses
Options :
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485584158244. 4
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Read the given passage carefully and answer the following question :

Based on the universal law " Polluter pays”, etfect to restore the ecology and satepguard the
human health with people’s participation has taken place in Daurala near Meerut. These efforks
are now bearing fruits atter a span of three vears when Meerut based NGO had developed a model
for ecological restoration. The meeting of the Daurala Industries officials, NGOs, Government
otficials and other stackholders at Meerut has brought out results, The powertul logics, anthentic
studies and the pressure of people have brought a new lease of life to the twelve thousand residents
of this village, Tt was in the year 20003 that the pitiable condition of Dauralaities drew the attention
of the civil m‘ir:t_'r?. The E:'u-uru_fw'ul:er of this leu.Eu wias conbBimmmabed with I!u.m.r].-' metals, The
reason was that the untreated waste water of Daurala industries was leaching to the groumdwater
table. The NGO conducted a door to door survey of the health status of the residents and came out
with a report.  The orgamisation, the village community and people’s representatives sat together
to find out sustamable solutions to the health problem. The industrialists showed a keen inberest
towards checking the deterioratmg ecology, The overhead water tank’s capacity in the village
was enhanced and a 90m extra pipeline was laid to supply potable water to the community, The
silted pond of the village was cleaned and recharged by distilling it. Large quantity of silt was
removed paving way to large quantity of water so that it recharged the ﬂqu?r& Rainwater
harvesting structures have been constructed at different places which has helped in diluting the
contaminants of the groundwater atter the monsoons, 1000 trees have also besn planted which
have improved the environment,

Mame the model developed by a non-governmental organisation in Daurala.
(1) Ecological imbalance

(2} Ecological restoration

(3) Ecological succession

(4) Ecological development
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Read the given passage carefully and answer the following question :

Based on the universal law “Polluter pays™, effect to restore the ecology and satepuard the
human health with people’s participation has laken place in Daurala near Meerut, These offorks
are now bearing fruits atter a span of three yvears when Meerut based NGO had developed a mods
for ecological restorabon. The meeting of the Daurala Industries officials, NGOs, Government
officials and other stackholders at Meerut has brought out results. The powerful logics, authentic
studies and the pressure of people have brought a new lease of life to the twelve thousand residents
of this village, It was in the yvear 2003 that the pitiable condition of Dauralaities drew the attention
of the civil society. The groundwater of this village was contaminated with heavy metals. The
reason was that the untreated waste water of Daurala industries was leaching to the groundwaler
table. The NGO conducted a door to door survey of the health status of the residents and came out
with a report. The orgamsation, the village community and people’s representabives sat together
te Hnd out sustaimable solutions to the health problem. The industralists showed a keen inberest
towards checking the deteriorating ecology,  The overhead water tank's capacity in the village
was enhanced and a 900m extra pipeline was laid to supply potable water to the community. The
silted pond of the village was cleaned and recharged by distilling it. Large quanbity of silt was
removed paving way to ldrgq. quantity of water so that it rE{.harhed the aguifers. Ramwater
harvesting structures have been comstructed at different places which has helped in diluting the
contaminants of the groundwater after the monsoons, 1000 trees have also been planted which
have improved the environment,

At the time of survey, which of the following was the population of Daurala 7
(1) Ten thousand
(2) Twelve thousand
(3} Fourteen thousand
(4) Fifteen thousand
Options :
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Read the given passage carefully and answer the following question :

Based on the universal law “Polluter pays®, etfect to restore the ecology and sateguard the
human health with people’s participation has laken place in Daurala near Meerut, These offorks
are now bearing fruits atter a span of three years when Meerut based NGO had developed a model
for ecological restorabon. The meeting of the Daurala Industries officials, NGOs, Government
otficials and other stackholders at Meerut has brought out results, The powertul logics, authentic
studies and the pressure of people have brought a new lease of life to the twelve thousand residents
of this village. It was in the year 2003 that the pitiable condition of Dauralaities drew the attention
of the civil society. The groundwater of this village was contaminated with heavy metals. The
reason was that the untreated waste water of Daurala industries was leaching to the groundwater
table. The NGO conducted a door to door survey of the health status of the residents and came ont
with a report. The organisation, the village community and people’s representatives sat together
to find out sustainable solutions to the health pmhlem The industrialists showed a keen interest
towards checking the deteriorating ecology. The overhead water tank's capacity in the village
was enhanced and a 900m extra pipeline was laid to supply potable water to the community. The
silted pond of the village was cleaned and recharged by distilling it. Large quantity of silt was
removed paving way to large quantity of water so that it recharged the aguifers. Rainwater
harvesting structures have been constructed at different places which has hr.—'e][:x.'d i diluting the
contaminants of the groundwater after the monsoons. 1000 trees have also been planted which
have improved the environment.

During which of the following vears, pitiable conditon of villagers drew the attenbon of cvil
society 7

(1) 2001
(2) 2002
(3) 2003
(4) 2004
Options :
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Question Number : 634 Question Id : 48558439564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

.
gcollegedunlas
India’s largest Student Review Platform

-



fau o menE Wt e afg 3t e el & aee e

‘e T & o A fem F anam 1 iee i T e | w3 wfaufien & wen wiief &
AT 37 AEE e =5 e o e vam e e ¥ TR % v TR W Ea (wE e )
BT Mol [ & TF Hisel i To1 & A7 99 908 T 3 AR # ) Sen fE=E = &
v, fe-weerdt s, T st i e vefuefel # i | g wifdn 5 afiomy a
| IE U 2003 1 96 8 W4 S w1 95Hg 2 F U s 9w (fofae 9o | s
AT T | 12,000 AT W FREEN A 70 Ui 5 -F9 IR Gs F H06 § 550 6 9 9005
FEN TE o o S & I & el aufie we - w0 H Feaee oo el &
THEFAR A - TEE |0 % -t Had A e aiT v U a4 | 39 HEE, e
T HE T o SE § detht 3 AHeEnEl & (EohTs THEE g w1 wad fe | e |
grfiiEiaes] =1 fresl 29 =1 i % ﬁﬁ?ﬁﬁﬁﬁlﬁﬂﬁm:ﬁﬁ{umhanmnk}ﬂﬁm
AGIE T S TUEE w1 U a6 o Ui S o o 900 HiET w1 i MeTenss fawn 78 | W o
TE-7E ATEE 1 E5E o T AN 36 Te-fage 5 U9 99 9 99 T SR 96— SR w6
w7 | fE A F U oo o d@gueh H we o | U g g o e T e
ATy & HaHE g

o= =i § 9 s <A viia =1 =1 55 =9 3 wHen 79 (fofEm dmee) | em A e
(1} 2001

(2) 2002

(3) 2003

(4) 2004
Options :

485584158253. 1
485584158254. 2
485584158255. 3
485584158256. 4

Question Number : 635 Question Id : 48558439565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

g collegedunias

-



Read the given passage carefully and answer the following question :

Based on the universal law “Polluter pays™, effect to restore the ecology and satepuard the
human health with people’s participation has laken place in Daurala near Meerut, These offorks
are now bearing fruits atter a span of three yvears when Meerut based NGO had developed a mods
for ecological restorabon. The meeting of the Daurala Industries officials, NGOs, Government
officials and other stackholders at Meerut has brought out results. The powerful logics, authentic
studies and the pressure of people have brought a new lease of life to the twelve thousand residents
of this village, It was in the yvear 2003 that the pitiable condition of Dauralaities drew the attention
of the civil society. The groundwater of this village was contaminated with heavy metals. The
reason was that the untreated waste water of Daurala industries was leaching to the groundwaler
table. The NGO conducted a door to door survey of the health status of the residents and came out
with a report. The orgamsation, the village community and people’s representabives sat together
te Hnd out sustaimable solutions to the health problem. The industralists showed a keen inberest
towards checking the deteriorating ecology,  The overhead water tank's capacity in the village
was enhanced and a 900m extra pipeline was laid to supply potable water to the community. The
silted pond of the village was cleaned and recharged by distilling it. Large quanbity of silt was
removed paving way to ldrgq. quantity of water so that it rE{.harhed the aguifers. Ramwater
harvesting structures have been comstructed at different places which has helped in diluting the
contaminants of the groundwater after the monsoons, 1000 trees have also been planted which
have improved the environment,

Which of the following length of extra pipeline was laid to supply potable water to the community 7
(1) 800 meter
(2) 900 meter
(3) 1000 meter
(4) 1100 meter
Options :
485584158257. 1
485584158258. 2

485584158259. 3
485584158260. 4
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